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There are in all 30 questions in this question paper. All questions are

compulsory.

Question No.1 to 8 carry one mark each. Question No.9 to 18 carry
two marks each, Question No. 19 to 27 carry three marks each and
Question No. 28 to 30 carry five marks each.

Question No.1 to 4 are multiple choice questions. Here four options
are given in each question. Write the correct option in your answer
book.

There is no overall choice in question paper, however, an internal choice
has been provided in two questions of 2 marks, three questions of 3
marks and all questions of 5 marks each. You have to attempt only
one of the given choices in such questions.

Use log tables, if necessary. Use of calculator is not permitted.
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Fr=faRaa & o Semas! faea= &1 Fmfor a=ar ¢ - 1
(i) NaCl (i) TP (i) W™ (iv) SRem==e
Which of the following prepare colloidal solution-

(i) NaCl (ii) Glucose (ii) Starch (iv) Barium Nitrate
VepIEIel St | faerd 81d @ i - 1
(i) 0T STt | 31 SR & 2|

(i) I A & A FESITH § &9 &

(i) A I P faeenfig &= 2

(iv) 9 9 BF el

Alcohol are soluble in water because -

(i) they have higher molecular weight than water.

(i) they form Hydrogen Bond with water.

(iii) they displace water.

(iv) None of these.

K,[Fe(CN),] Tifii # =217 TRHAI] Fe Bl YT T&AT ¢ - 1
(i) 4 (i) 10 (i) 6 (iv) 379 9 DI T8l
The Coordination Number of central atom Fe in K,[Fe(CN).] compound is-

(i) 4. (i) 10 (i) 6 (iv) None of these
BIHICH 39T & - 1
(i) 40% BifceaEs oo (i) 30% BHfcearss faead

(i) 40% veitseEs fgoa (iv) T8 T B T8

What is Formalin-

(i) 40% Formaldehyde solution (i) 30% Formaldehyde solution

(iii) 40% Acetaldehyde solution (iv) None of these

fogl & MeHT & = foRae 1
Write name of any two Proteins.

AT dcd HUF Ut & ITE adi e &2 1

Why do the transition elements exhibit higher enthalpies of atomisation?

430 (10X) [2]
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7. Fefeles diftet & grfie, dos qen gdas 09 veeiE- 1
Identify Primary, Secondary and Tertiary amine in following compounds-

(i) GCHs— II\J-— CH,CH, (i) CH,NHCH,CH, (i) CH,CH,NH,
€

8. fose 31weT STet # < R erert 2 STl Wi Nacl & fera % Rigs sen &, w4iie |
Excoriated egg inflates in water whereas deflates in concentrated NaCl Solution,
Why?

9. %ﬁ@ﬁﬂ#ﬁwﬁmﬁ%aﬂﬁ%mﬁséﬁﬁqsﬁaﬁwﬁﬁwmﬁh
R &1 T BT 2
Haloalkanes shows nucliophilic substitution whereas Haloarens shows
electrophilic substitution. Explain.

10. feaR =AY B Tt 1w F gof R d-Fe (4d0) #1319 $ B G5 & 5 og
T HHHYT T &P 2
Silver atom has completely filled d-orbitals (4d™) in its ground state. How can
you say that it is a transition element?

1. (@) STreteb fog & 317 o Twer &7 1

that do you understand by Lattice point?
() e B! B e B o R & 7 A :
Name the parameters that characterise a unit cell.

12. wifca! a1 T Shdet ATY Bl THESY | 2
Explain Schottky defect and Frenkel defect,

13. W HIfC - 14+1=2
Clarify - iy
(@) vicse domss gda 81 g o 516 3 sty & wi?

Alkyl Halides though polar are immiscible in water. Why?
(@) 918Xl & 576 FARSOIH T STersiage ar Sirr 22
What happens when Chlorobenzene is subjected to Hydrolysis.
430 (10X) [3] [P.T.O.
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14, aﬁzzga‘ﬁmzegaﬂéﬁ@aﬁ‘m@ﬁgﬁﬁrﬁréﬁqum%m
PIRN G RIS AR 2
Calculate the Mass percentage of benzene and carbon tetrachloride if 22 g of
benzene dissolved in 122 g of carbon tetrachloride.

372191 (OR)
T TIex (1030 g) TR 16T # 6x 10-3 g ifaniier el 21 3ifaiior o arsar 9. 9o,
(ppm) # S|
6x107° g of oxygen dissolved in one liter sea water (1030 g). What is the

concentration of oxygen in ppm.
15, TSR et -1 SiTaRiIaxoT 3oy yafdie oRar & Sais 370 28759 +1, 43, +5 a2
+7 SATaRIIEHROT a7 weielid axa &1 aare Hism| 2

Fluorine exhibits only -1 oxidation state whereas other halogens exhibit +1, +3,

+5 and +7 oxidation states also. Explain.

16. T+ val @ 3faa 3arexvr dfed wHasd - 1+1=2
Explain the following terms with suitable example -
() Vebria (@) W

Alcosol Aerosol
AY4T (OR)

ETS1-g[eet &1 FPom ey | 2
Explain Hardy-Schulze law.

17. Tr=iaRed suwesaisH difiet & 1uPAC = fiRae - 1+1=2
Write the IUPAC names of the following coordination compounds -
(®) [Pt(NH,),CI(NO,)] (&)'K;[Cr(C,0,).]

18. feeit dgger s1qucy feras & arctedr ot HieR aresdT @ uRwuTT S| 2
Define Conductivity and Molar Conductivity of an electrolyte solution.

19. () HHHUT &3 & SIEETOT T 27 1
(a) What are the characteristics of the transition metals?
(@) d- &I & deal H - 1+1=2

(i) ®F 3 dcg TproT AN & T &) B 57 Tba &2
(ii) AT TG TFAT 3 eI DT I 7 &7
430 (10X) [4]
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(b) In d-block Elements -
(i) which of the elements may not be regarded as the transition
elements?
(i) why transition metals and many of their compounds are
paramagnetic?
20. 45 g URIEIN TeMSSIE (C,H,0,) BT 600 g 3eT ¥ fretran war| oo % i arqem
(AT,) Bt T SISEI [ K, (Fieier =0 ReRic)=1.86 K kg mol-* ] 3
45 g of ethylene glycol (C,H.O.) is mixed with 600 g of water. Calculate the

Freezing point depression (AT,) of solution.

K: (Molal depression constant)=1.86 K kg mol-..

21. Tr=foRaa sififsar o ara feris Rt Sife - 3
Cu(s) + 2Ag* (aq) — Cu?*(aq) + 2Ag(s) E° 4y =0.46V
Calculate the equilibrium constant of the following reaction -
Cu(s) + 2Ag* (aq) —» Cu®*(aq) + 2Ag(s) E® ey =0.46V

22. f=faRea uRfkifeat % o Seor 25 - 1+1+1=3

What are the observations in following cases -

(@) STa yprer fbRoT 47 PIeTars! |ieT & 3 70 o=
When a beam of light is passed through a Colloidal Sol.

(@) Sernfst BRe sifaxmss wie & NaCl $a smuey fiemar s )
An electrolyte NaCl is added to hydrated Ferric Oxide Sol.

() Bt Hte 3 & e aRT e & s
Electric current is passed through a Colloidal Sol.

23. (P) T 15 & W ST P Tedt Bl Ger § 37 16 3 et cbY T 3T DO @7 7

AT B &Il &1 J4i? 2

Elements of group 16 generally show lower value of first ionisation

enthalpy compared to the corresponding periods of group 15. Why?

(@) H,0 s ga aem H,s ¥ 2, Fai? 1
Why is H,0 a liquid and H,S a gas?
3Udl (OR)
430 (10X) [5] [ P.T.O.
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(B) TeBX SI83iTaTTss § ! yamrener faftr &1 aofs Sifse| 11
Describe laboratory method of preparation of Sulphur dioxide.

(W) AEHR BT DI T FY SITEHII TIER YT el &7 17

Which form of Sulphur shows Paramagnetic behaviour?
24. T aiffgsansi & gof Sifsw - 141+1=3

Complete the following reactions -

(@) CoHsNH, + CH5COCl &= (Pyridine)
(@) (:2H5NH2+HNO2 NeNO +HCI

() C4HsNH, +3Br, —2:/%0

25. (®) v 31 rflopamd Sfo f5=r BiFe o sriiar vofa wefdfa 2t 2 2
Give two reactions that show the acidic nature of phenol.
(W) FEARISSI | B a4 B I 3i¥fssar aifse | 1
Give chemical reaction for the preparation of phenol from chlorobenzene.
34T (OR)
fr=fciRaa diftret & 1UPAC =4 ferRa - 1+1+1=3

Write IUPAC names of the following compounds -

(@) CH, -—-(,:H—CH—CH—CHZOH @) CHs —ICH—O—CHZCHa
: |
oH!HCl REH NG R (kL

CH3 CH3

()

26. (B) D- TP Td BT &f e ferikae| 2
Write structure of D-glucose and fructose.
(T) D-Te &Y 3fftsan HI & e ferRae| 1
Write chemical reaction of D-glucose with HI.
3Udr (OR)
(&) UHIMT 3T Y IUTEHT UepfeT BT 37T ST THAR 2 1

How do you explain the amphoteric behaviour of amino acids.

430 (10X) [6]
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(3) DNA T RNA & ifads o1 ez 2

Explain Biological functions of DNA and RNA.

27. (&) mﬁmdﬁaﬁﬁwﬁgﬁw%‘?mﬂﬁaﬂmﬁr 1

What is coordination sphere in coordination compounds? Explain with

example.
(%) UEPIEIeT BT FaeD 2R e 2 &, aii 1
The boiling point of alcohol s higher than ether, why?
(1) ww%asan@ﬁrémwr‘ﬁqaﬂaﬁmmﬁﬁﬁm 1
Give the classification of Proteins on the basis of Molecular shape.
28. FefeiRaa sif¥feansit o1 qof i - 1x5=5

Complete the following reactions -
(®) HCOOH+Agzo~—+

PZOS
() HCHO+HCN——,

() CHyCHO + 2C,H;0H — T=HOIs(ery Hoigas)

()  2CH,CHO — T NaOH (dil. NaOH) ..
34T (OR)

=t siffsanstt o1 wmemsa - 1x5=5

(@) STTRY srf¥fesar (@) T 31 3fifpar

() TxeiaoT (1) Dled deasmue sRifsar

(5) &or-aieer sifereadt afifsar

Explain the following reactions -

(a) Cannizzaro reaction (b) Clemmensen reduction reaction

(c) Esterification (d) Kolbe electrolysis reaction

(e) Hell-Volhard Zelinsky reaction

29. (@) mﬁm@mgﬁmtﬁgéﬁﬁwﬁ%waﬁaaﬁaﬁmsﬁwﬁa%ﬁm

3

Write method of preparation of Nitric acid by Ostwald's process with chemical
reactions,

430 (10X) [7] [P.T.O.
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() Sr=fiea e it & qut Sitst - 2
Complete the following Chemical reactions -
(i) Cu + HNO, (§F% / Conc.) ——
(i) I, + HNO, (= / Conc.) ——
3di (OR)
(%) TEEISH +5 SiteSTERoT Sra g & At ag YeTdeigs el S &, P
12

Nitrogen exhibits +5 oxidation state but it does not form Pentahalide, Why?

() WfET ¥aTeE & M 3we B Hfufear forika 11
Write the reaction of thermal decomposition of sodium azide.
(m) T riefgsonsti @ quf ifste - 1+1=2
Complete the following reactions-
@  CH,+0,—— (i) 4Al+30,——
30. (F) oF wIW @IE & sear &1 o Reri® 1.15x107 s+ 81 39 oiihar H
ARIHRE B 5 g HET TEHY 3 g B H Toha1 THI THINT? 3

A first order reaction has a rate constant 1.15x10-3s1. How long will 5 g

of this reactant take to reduce to 3 g?
() T FRIREAT % 3T TR THIE ST ald SRS B 3 HioTe| 2

Mention the factors that affect the rate of a chemical reaction.

AYyar (OR)
(@) FrefiRad 3 ReRrie! 3 3o A sifhar Bt P D1 T DI - 2
Identify the order of reaction from following units of rate constant -
(i) Mol List (iimys
(@) g s v P B sffsan F 99.9% afifar gof 8 # e w=g 31 3
@1 10 T il & 3

Show that in a first order reaction, time required for complition of 99.9% is
ten times of half-life of the reaction.

3K %k kK

430 (I0X) [8]
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